Roll No. 245127318

Regn. No. 24-DEO-2872

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : DEEPALI
Father's Name : ISHWAR
Mother's Name : SUNITA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	55 17	40AG	100	А	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	55 23	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	50 20	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	51 21	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	41 19	40AG	100	B+	7	04.0	28.0
6	MC-106 MARKETING MANAGEMENT	44 20	40AG	100	B+	7	04.0	28.0
	TOTAL	0416		0600			24.0	188.0
	GRAND TOTAL	0416		0600			24.0	188.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.83

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			2.	
		((Clerk)		(Assistant)



Roll No. 245127319

Regn. No. 24-DEO-2873

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ANITA KUMARI
Father's Name : BHOGENDRA DAS
Mother's Name : GULAB DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	55 23	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	52 25	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	48 23	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	48 25	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	37 18	40AG	100	B+	7	04.0	28.0
6	MC-106 MARKETING MANAGEMENT	55 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0434		0600			24.0	200.0
	GRAND TOTAL	0434		0600			24.0	200.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.33

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	TERA				
DATED:	JUN 26,20	25			



Roll No. 245127320

Regn. No. 24-DEO-2874

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : RAHUL

Father's Name : BALWAN SINGH Mother's Name : VANDANA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	61 7	40AG	100	А	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	59 1	40AG	100	B+	7	04.0	28.0
3	MC-103 MANAGERIAL ECONOMICS	58 12	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	51 12	40AG	100	B+	7	04.0	28.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	56 24	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	49 21	40AG	100	А	8	04.0	32.0
	TOTAL	0411		0600			24.0	188.0
	GRAND TOTAL	0411		0600			24.0	188.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.83

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		_ 2	
		(Clerk)		(Assistant)



Roll No. 245127321

Regn. No. 24-DEO-2875

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : TANVEEN

Father's Name : RAVINDER SINGH Mother's Name : KAWALJEET KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	62 23	40AG	100	0	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	55 24	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	60 23	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	52 26	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	55 22	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	53 23	40AG	100	A+	9	04.0	36.0
	TOTAL	0478		0600			24.0	220.0
	GRAND TOTAL	0478		0600			24.0	220.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.17

DATED : JUN 26,2025

KURUKSHETERA

Checked by 1. ______ 2. _____

(Clerk) (Assistant)

Data of issue

Bann

CONTROLLER OF EXAMINATIONS

Roll No. 245127322

Regn. No. 24-DEO-2876

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : CHANDRA SEKHAR PYDI

Father's Name : RAMA RAO PYDI Mother's Name : ADILAKSHMI PYDI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtair	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	23	17	*	40AG	100	Р	4	04.0	16.0
2	MC-102 BUSINESS ENVIRONMENT	19	17	F	40AG	100	F	0	04.0	0
3	MC-103 MANAGERIAL ECONOMICS	36	12		40AG	100	С	5	04.0	20.0
4	MC-104 COMPANY LAW	49	14		40AG	100	B+	7	04.0	28.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	31	17		40AG	100	С	5	04.0	20.0
6	MC-106 MARKETING MANAGEMENT	39	17		40AG	100	B+	7	04.0	28.0
	TOTAL		*:	**		0600			24.0	112.0
									24.0	112.0

RESULT: RE - TILL MAR- 2027 IN: MC-102

		(C	lerk)		(Assista	int)	
Checked by	1.			_ 2			
KURUKSHET	ERA						
DATED:	JUN 26,2	2025					



Roll No. 245127323

Regn. No. 24-DEO-2877

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : CHUMU TUMUNG
Father's Name : BAKUL TUMUNG
Mother's Name : JAMUNA TUMUNG

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtair	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	15	16	F	40AG	100	F	0	04.0	0
2	MC-102 BUSINESS ENVIRONMENT	35	18		40AG	100	В	6	04.0	24.0
3	MC-103 MANAGERIAL ECONOMICS	21	19		40AG	100	Р	4	04.0	16.0
4	MC-104 COMPANY LAW	18	14	F	40AG	100	F	0	04.0	0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	27	16		40AG	100	С	5	04.0	20.0
6	MC-106 MARKETING MANAGEMENT	25	15		40AG	100	Р	4	04.0	16.0
	TOTAL		*	**		0600			24.0	076.0
									24.0	76.0

RESULT: RE - TILL MAR- 2027 IN: MC-101 MC-104

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		_ 2	
		(Clerk)		(Assistant)

Data of issue

Banne

Roll No. 245127325

Regn. No. 24-DEO-2879

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : CHITRA

Father's Name : SUNIL KUMAR

Mother's Name : SEEMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	63 25	40AG	100	0	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	61 24	40AG	100	0	10	04.0	40.0
3	MC-103 MANAGERIAL ECONOMICS	55 23	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	61 25	40AG	100	О	10	04.0	40.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	56 23	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	62 26	40AG	100	0	10	04.0	40.0
	TOTAL	0504		0600			24.0	232.0
	GRAND TOTAL	0504		0600			24.0	232.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.67

DATED: JUN 26,2025

KURUKSHETERA

Checked by 1. ______ 2. ______

(Clerk) (Assistant)

Data of issue



CONTROLLER OF EXAMINATIONS

Roll No. 245127326

Regn. No. 24-DEO-2880

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : EKTA KUMARI
Father's Name : VISHAN SINGH
Mother's Name : MAMTA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	62 23	40AG	100	0	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	58 26	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	56 23	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	54 25	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	57 26	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	63 27	40AG	100	0	10	04.0	40.0
	TOTAL	0500		0600			24.0	224.0
	GRAND TOTAL	0500		0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	TERA				
DATED:	JUN 26,20	25			



Roll No. 245127327

Regn. No. 24-DEO-2881

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : RADHIKA BHARDWAJ

Father's Name : SHRI KRISHAN

Mother's Name : MANJU

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	46 14	40AG	100	B+	7	04.0	28.0
2	MC-102 BUSINESS ENVIRONMENT	51 19	40AG	100	А	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	46 8	40AG	100	В	6	04.0	24.0
4	MC-104 COMPANY LAW	49 0	40AG	100	С	5	04.0	20.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	52 13	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	46 13	40AG	100	B+	7	04.0	28.0
	TOTAL	0357		0600			24.0	164.0
	GRAND TOTAL	0357		0600			24.0	164.0

RESULT: PASSED AND HAS OBTAINED: SGPA 6.83

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2	
			(Clerk)		(Assistant)

Data of issue

Banan

Roll No. 245127328

Regn. No. 24-DEO-2882

(CBCS-CDOE)

Name : RAJESH KUMAR
Father's Name : BASANT LAL
Mother's Name : PREM LATA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	45 26	40AG	100	А	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	60 23	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	44 14	40AG	100	B+	7	04.0	28.0
4	MC-104 COMPANY LAW	50 25	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	49 21	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	50 22	40AG	100	A	8	04.0	32.0
	TOTAL	0429		0600			24.0	196.0
	GRAND TOTAL	0429		0600			24.0	196.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.17

DATED :	JUN 26,2025	i		
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245127330

24-DEO-2884 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR-2025

(CBCS-CDOE)

Name : MOHD SHAMIM MOHAMMED SHABBIR

: MOHAMMED SHABBIR Father's Name

: MUMTAJ Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	29	12		40AG	100	С	5	04.0	20.0
2	MC-102 BUSINESS ENVIRONMENT	АВ	AB	F	40AG	100	F	0	04.0	0
3	MC-103 MANAGERIAL ECONOMICS	AB	AB	F	40AG	100	F	0	04.0	0
4	MC-104 COMPANY LAW	АВ	AB	F	40AG	100	F	0	04.0	0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	00	AB	F	40AG	100	F	0	04.0	0
6	MC-106 MARKETING MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
	TOTAL		**	**		0600			24.0	020.0
									8.0	20.0

MC-102 MC-103 MC-104 MC-105 MC-106 RESULT: RE - TILL MAR- 2027 IN:

DATED:	JUN 26,2025	
KURUKSHET	ERA	

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245127331

Regn. No. 24-DEO-2885

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : DIKSHA

Father's Name : VIJAY KUMAR Mother's Name : ASHU BALA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	53	0		40AG	100	В	6	04.0	24.0
2	MC-102 BUSINESS ENVIRONMENT	57	20		40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	52	22		40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	30	10	*	40AG	100	Р	4	04.0	16.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	22	9	F	40AG	100	F	0	04.0	0
6	MC-106 MARKETING MANAGEMENT	42	18		40AG	100	B+	7	04.0	28.0
	TOTAL		**	*		0600			24.0	136.0
									24.0	136.0

RESULT: RE - TILL MAR- 2027 IN: MC-105

Data of issue

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2	
			(Clerk)		(Assistant)

Banne

CONTROL		VITUNIC

Roll No. 245127333

Regn. No. 24-DEO-2887

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : PARUL

Father's Name : SANJEEV KUMAR Mother's Name : SAVIT MAKKAR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	57 19	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	61 26	40AG	100	О	10	04.0	40.0
3	MC-103 MANAGERIAL ECONOMICS	55 9	40AG	100	B+	7	04.0	28.0
4	MC-104 COMPANY LAW	55 26	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	54 23	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	59 23	40AG	100	A+	9	04.0	36.0
	TOTAL	0467		0600			24.0	212.0
	GRAND TOTAL	0467		0600			24.0	212.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.83

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)



Regn. No.

Roll No. 245127334

24-DEO-2888

RESULT-cum-DETAILED MARKS CARD

MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : DEEPAK MITTAL
Father's Name : NARSINGH MITTAL
Mother's Name : SARITA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	49 17	40AG	100	А	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	59 24	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	55 23	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	58 23	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	62 20	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	58 22	40AG	100	A+	9	04.0	36.0
	TOTAL	0470		0600			24.0	212.0
	GRAND TOTAL	0470		0600			24.0	212.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.83

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2	
			(Clerk)		(Assistant)



Roll No. 245127336

Regn. No. 24-DEO-2890

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : RAMA CHANDRA OJHA Father's Name : RAMESH CHANDRA OJHA

Mother's Name : JANKI OJHA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtai	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	08	14	F	40AG	100	F	0	04.0	0
2	MC-102 BUSINESS ENVIRONMENT	30	13		40AG	100	С	5	04.0	20.0
3	MC-103 MANAGERIAL ECONOMICS	26	14	*	40AG	100	Р	4	04.0	16.0
4	MC-104 COMPANY LAW	20	15	F	40AG	100	F	0	04.0	0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	16	12	F	40AG	100	F	0	04.0	0
6	MC-106 MARKETING MANAGEMENT	10	13	F	40AG	100	F	0	04.0	0
	TOTAL		*	**		0600			24.0	036.0
									24.0	36.0

RESULT: RE - TILL MAR- 2027 IN: MC-101 MC-104 MC-105 MC-106

		(Cle	rk)	(Assistant)	
Checked by	1.		2	 	
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			



Roll No. 245127337

Regn. No. 24-DEO-2891

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : HARPREET
Father's Name : SATISH KUMAR
Mother's Name : RANI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	44 18	40AG	100	B+	7	04.0	28.0
2	MC-102 BUSINESS ENVIRONMENT	34 23	40AG	100	B+	7	04.0	28.0
3	MC-103 MANAGERIAL ECONOMICS	44 20	40AG	100	B+	7	04.0	28.0
4	MC-104 COMPANY LAW	53 20	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	39 16	40AG	100	B+	7	04.0	28.0
6	MC-106 MARKETING MANAGEMENT	54 16	40AG	100	А	8	04.0	32.0
	TOTAL	0381		0600			24.0	176.0
	GRAND TOTAL	0381		0600			24.0	176.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.33

DATED :	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245127338

Regn. No. 24-DEO-2892

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ISHAAQ

Father's Name : MOHAMED ILYAS

Mother's Name : BILKEES

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	55 24	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	63 25	40AG	100	0	10	04.0	40.0
3	MC-103 MANAGERIAL ECONOMICS	54 23	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	49 22	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	55 21	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	53 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0469		0600			24.0	216.0
	GRAND TOTAL	0469		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				

Data of issue

Bound

CONTROLLER OF EXAMIN	AHONS
----------------------	-------

Roll No. 245127339

Regn. No. 24-DEO-2893

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : ASHISH KUMAR
Father's Name : BIJENDER SINGH
Mother's Name : RAJWANTI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	56 19	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	54 24	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	55 23	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	44 24	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	56 19	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	45 20	40AG	100	А	8	04.0	32.0
	TOTAL	0439		0600			24.0	208.0
	GRAND TOTAL	0439		0600			24.0	208.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.67

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED :	JUN 26,202	25			



Roll No. 245127340

Regn. No. 24-DEO-2894

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : ASHUTOSH ACHARYA
Father's Name : BALARAM ACHARYA
Mother's Name : KALPANA ACHARYA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	62 18	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	56 20	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	55 20	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	59 26	40AG	100	0	10	04.0	40.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	61 24	40AG	100	0	10	04.0	40.0
6	MC-106 MARKETING MANAGEMENT	57 23	40AG	100	A+	9	04.0	36.0
	TOTAL	0481		0600			24.0	224.0
	GRAND TOTAL	0481		0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2	
		(0	Clerk)		(Assistant)



Roll No. 245127341

Regn. No. 24-DEO-2895

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MANSI DUNNILAL GUPTA

Father's Name : DUNNILAL Mother's Name : MADHU

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	59 11	40AG	100	А	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	47 16	40AG	100	B+	7	04.0	28.0
3	MC-103 MANAGERIAL ECONOMICS	49 17	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	59 18	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	41 16	40AG	100	B+	7	04.0	28.0
6	MC-106 MARKETING MANAGEMENT	42 18	40AG	100	B+	7	04.0	28.0
	TOTAL	0393		0600			24.0	184.0
	GRAND TOTAL	0393		0600			24.0	184.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.67

DATED: JUN 26,2025

KURUKSHETERA

Checked by 1. ______ 2. _____

(Clerk) (Assistant)

Data of issue

Banne

CONTROLLER OF EXAMINATIONS

Roll No. 245127342

Regn. No. 24-DEO-2896

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : SHRUTI AGRAWAL
Father's Name : MANOJ AGRAWAL
Mother's Name : GEETIKA AGRAWAL

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	59 24	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	50 25	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	56 16	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	52 21	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	48 20	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	53 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0449		0600			24.0	204.0
	GRAND TOTAL	0449		0600			24.0	204.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.50

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
			(Clerk)		(Assistant)



Roll No. 245127343

Regn. No. 24-DEO-2897

(CBCS-CDOE)

Name : MANISH JINDAL
Father's Name : PITRAM JINDAL
Mother's Name : ANITA JINDAL

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	13 29	40AG	100	С	5	04.0	20.0
2	MC-102 BUSINESS ENVIRONMENT	43 26	40AG	100	А	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	42 22	40AG	100	B+	7	04.0	28.0
4	MC-104 COMPANY LAW	50 22	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	54 28	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	40 28	40AG	100	A	8	04.0	32.0
	TOTAL	0397		0600			24.0	180.0
	GRAND TOTAL	0397		0600			24.0	180.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.50

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)



Roll No. 245127344

Regn. No. 24-DEO-2898

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : KENE DIPTI ROHIDAS

Father's Name : ROHIDAS Mother's Name : SUGANDHA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	56 17	40AG	100	А	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	54 20	40AG	100	А	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	52 18	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	50 19	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	50 19	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	51 17	40AG	100	А	8	04.0	32.0
	TOTAL	0423		0600			24.0	192.0
	GRAND TOTAL	0423		0600			24.0	192.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)



Roll No. 245127345

Regn. No. 24-DEO-2899

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : HARSHITA
Father's Name : KULDEEP
Mother's Name : KIRAN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	63 24	40AG	100	0	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	63 26	40AG	100	О	10	04.0	40.0
3	MC-103 MANAGERIAL ECONOMICS	60 24	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	58 25	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	60 23	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	65 25	40AG	100	0	10	04.0	40.0
	TOTAL	0516		0600			24.0	228.0
	GRAND TOTAL	0516		0600			24.0	228.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.50

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	TERA				
DATED:	JUN 26,20	25			



Roll No. 245127346

Regn. No. 24-DEO-2900

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : DAULAT SINGH
Father's Name : SHAMSHER SINGH
Mother's Name : GURMEET KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	AB	24	F	40AG	100	F	0	04.0	0
2	MC-102 BUSINESS ENVIRONMENT	AB	24	F	40AG	100	F	0	04.0	0
3	MC-103 MANAGERIAL ECONOMICS	AB	23	F	40AG	100	F	0	04.0	0
4	MC-104 COMPANY LAW	AB	21	F	40AG	100	F	0	04.0	0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	01	23	F	40AG	100	F	0	04.0	0
6	MC-106 MARKETING MANAGEMENT	AB	20	F	40AG	100	F	0	04.0	0
	TOTAL		***	**		0600			24.0	000.0
									24.0	0.0

RESULT: RE - TILL MAR- 2027 IN: FAIL

DATED :	JUN 26,20)25							
KURUKSHET	KURUKSHETERA								
Checked by	1		2						
		(Clerk)		(Assistant)					



Roll No. 245127347

Regn. No. 24-DEO-2901

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : RIYA

Father's Name : SANJAY KHANNA

Mother's Name : SWEETY

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	63 24	40AG	100	0	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	54 26	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	54 24	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	51 21	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	57 23	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	60 26	40AG	100	0	10	04.0	40.0
	TOTAL	0483		0600			24.0	220.0
	GRAND TOTAL	0483		0600			24.0	220.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.17

ŕ		(Clerk)	_	(Assistant)	
Checked by	1.		2		
KURUKSHET	ERA				
DATED:	JUN 26,2025				



Roll No. 245127348

Regn. No. 24-DEO-2902

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : DEEPANSHU BHARDWAJ
Father's Name : DHARAMVIR BHARDWAJ

Mother's Name : SAROJ

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	50 25	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	56 25	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	57 23	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	53 23	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	59 22	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	60 26	40AG	100	0	10	04.0	40.0
	TOTAL	0479		0600			24.0	220.0
	GRAND TOTAL	0479		0600			24.0	220.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.17

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245127349

Regn. No. 24-DEO-2903

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MEENAKSHI
Father's Name : ASHOK KUMAR
Mother's Name : RAJESH RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	50 20	40AG	100	А	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	54 23	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	56 23	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	54 21	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	52 20	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	61 24	40AG	100	0	10	04.0	40.0
	TOTAL	0458		0600			24.0	212.0
	GRAND TOTAL	0458		0600			24.0	212.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.83

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245127350

Regn. No. 24-DEO-2904

(CBCS-CDOE)

Name : DHEERAJ KUMAR JHA

Father's Name : VINOD JHA Mother's Name : PRAMILA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	63 24	40AG	100	0	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	58 26	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	60 25	40AG	100	0	10	04.0	40.0
4	MC-104 COMPANY LAW	57 23	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	58 23	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	59 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0501		0600			24.0	224.0
	GRAND TOTAL	0501		0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

			(Clerk)		(Assistant)	
Checked by	1.			_ 2		
KURUKSHET	ERA					
DATED:	JUN 26,2	025				



CONTROLLER OF EXAMINATIONS

Data of issue			

Roll No. 245127351

Regn. No. 24-DEO-2905

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : MANDEEP
Father's Name : DHARAMBIR
Mother's Name : SHEELA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtai	ned Minimum Pass Mark		Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	59 25	40	AG 100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	59 26	40	AG 100	0	10	04.0	40.0
3	MC-103 MANAGERIAL ECONOMICS	52 22	40	AG 100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	46 23	40	AG 100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	55 22	40	AG 100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	49 26	40	AG 100	A+	9	04.0	36.0
	TOTAL	04	64	0600			24.0	212.0
	GRAND TOTAL	04	64	0600			24.0	212.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.83

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)



Roll No. 245127352

Regn. No. 24-DEO-2906

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : SAKSHI SAWHNEY
Father's Name : SUNIL SAWHNEY
Mother's Name : ANJU SAWHNEY

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	57	25	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	57	26	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	58	22	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	54	25	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	58	23	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	62	24	40AG	100	0	10	04.0	40.0
	TOTAL		0491		0600			24.0	220.0
	GRAND TOTAL		0491		0600			24.0	220.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.17

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2.	
			(Clerk)		(Assistant)



Roll No. 245127353

Regn. No. 24-DEO-2907

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : CHAHAT SHARMA
Father's Name : DEVRAJ SHARMA
Mother's Name : ANU SHARMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	51 23	40AG	100	А	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	36 24	40AG	100	B+	7	04.0	28.0
3	MC-103 MANAGERIAL ECONOMICS	40 20	40AG	100	B+	7	04.0	28.0
4	MC-104 COMPANY LAW	41 24	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	35 21	40AG	100	B+	7	04.0	28.0
6	MC-106 MARKETING MANAGEMENT	35 22	40AG	100	B+	7	04.0	28.0
	TOTAL	0372		0600			24.0	176.0
	GRAND TOTAL	0372		0600			24.0	176.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.33

		(Clerk)		(Assistant)
Checked by	1.			2	
KURUKSHET	ERA				
DATED:	JUN 26,2	025			



Roll No. 245127354

Regn. No. 24-DEO-2908

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : GIAN PRAKASH
Father's Name : SAHAB DAS
Mother's Name : RAM RATI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	55 1	40AG	100	B+	7	04.0	28.0
2	MC-102 BUSINESS ENVIRONMENT	60 20	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	50 1	40AG	100	В	6	04.0	24.0
4	MC-104 COMPANY LAW	53 16	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	50 8	40AG	100	B+	7	04.0	28.0
6	MC-106 MARKETING MANAGEMENT	51 9	40AG	100	B+	7	04.0	28.0
	TOTAL	0374		0600			24.0	176.0
	GRAND TOTAL	0374		0600			24.0	176.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.33

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)



Roll No. 245127355

Regn. No. 24-DEO-2909

(CBCS-CDOE)

Name : PAWAN KUMAR GUPTA Father's Name : HARINARAYAN GUPTA

Mother's Name : ASHA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	55 19	40AG	100	А	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	55 21	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	52 20	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	55 23	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	48 20	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	50 20	40AG	100	А	8	04.0	32.0
	TOTAL	0438		0600			24.0	200.0
	GRAND TOTAL	0438		0600			24.0	200.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.33

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)

Data of issue

Banne

CONTROLLER OF EXAMINATIONS

Roll No. 245127356

Regn. No. 24-DEO-2910

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : KARAN GARG
Father's Name : NARESH KUMAR
Mother's Name : NISHA RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	59 25	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	57 12	40AG	100	А	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	51 11	40AG	100	B+	7	04.0	28.0
4	MC-104 COMPANY LAW	62 26	40AG	100	0	10	04.0	40.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	55 23	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	55 10	40AG	100	A	8	04.0	32.0
	TOTAL	0446		0600			24.0	204.0
	GRAND TOTAL	0446		0600			24.0	204.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.50

DATED:	JUN 26,2	2025							
KURUKSHETERA									
Checked by	1.			2.					
			(Clerk)		(Assistant)				



Roll No. 245127357

Regn. No. 24-DEO-2911

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ROOPA KUMARI
Father's Name : SUSHIL KUMAR
Mother's Name : VED KUMARI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtain	ed Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	46 23	40AG	100	А	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	49 21	40AG	100	А	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	40 20	40AG	100	B+	7	04.0	28.0
4	MC-104 COMPANY LAW	48 23	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	46 19	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	47 18	40AG	100	А	8	04.0	32.0
	TOTAL	040	0	0600			24.0	188.0
	GRAND TOTAL	040	0	0600			24.0	188.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.83

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED :	JUN 26,202	25			



Roll No. 245127358

Regn. No. 24-DEO-2912

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : SNEHA MITTAL

Father's Name : SACHIN Mother's Name : DEEPA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	64 26	40AG	100	0	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	62 28	40AG	100	0	10	04.0	40.0
3	MC-103 MANAGERIAL ECONOMICS	61 26	40AG	100	0	10	04.0	40.0
4	MC-104 COMPANY LAW	62 26	40AG	100	0	10	04.0	40.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	60 24	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	58 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0522		0600			24.0	232.0
	GRAND TOTAL	0522		0600			24.0	232.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.67

DATED: JUN 26,2025

KURUKSHETERA

Checked by 1. ______ 2. ______

(Clerk) (Assistant)

Data of issue

Ranne

CONTROLLER OF EXAMINATIONS

Roll No. 245127359

Regn. No. 24-DEO-2913

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : AASHI GARG
Father's Name : ANIL GARG
Mother's Name : KUSUM

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	60 26	40AG	100	0	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	58 28	40AG	100	0	10	04.0	40.0
3	MC-103 MANAGERIAL ECONOMICS	59 26	40AG	100	0	10	04.0	40.0
4	MC-104 COMPANY LAW	63 26	40AG	100	0	10	04.0	40.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	61 24	40AG	100	0	10	04.0	40.0
6	MC-106 MARKETING MANAGEMENT	59 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0515		0600			24.0	236.0
	GRAND TOTAL	0515		0600			24.0	236.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.83

DATED:	JUN 26,2025					
KURUKSHETERA						
Checked by	1.		_ 2			
		(Clerk)		(Assistant)		



Roll No. 245127360

Regn. No. 24-DEO-2914

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SMILE

Father's Name : VINOD GROVER Mother's Name : SARIKA GROVER

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	59 21	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	59 26	40AG	100	0	10	04.0	40.0
3	MC-103 MANAGERIAL ECONOMICS	54 20	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	55 23	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	57 18	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	59 23	40AG	100	A+	9	04.0	36.0
	TOTAL	0474		0600			24.0	216.0
	GRAND TOTAL	0474		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED:	JUN 26,2025						
KURUKSHETERA							
Checked by	1		_ 2				
		(Clerk)		(Assistant)			



Roll No. 245127361

Regn. No. 24-DEO-2915

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : PRIYA BANSAL
Father's Name : AJAY BANSAL
Mother's Name : MEENU BANSAL

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks (Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	63 2	23	40AG	100	0	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	63 2	25	40AG	100	0	10	04.0	40.0
3	MC-103 MANAGERIAL ECONOMICS	59 1	11	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	54 2	25	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	61 1	10	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	56 2	24	40AG	100	A+	9	04.0	36.0
	TOTAL		0474		0600			24.0	216.0
	GRAND TOTAL		0474		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED:	JUN 26,2025								
KURUKSHETERA									
Checked by	1.		2						
		(Clerk)		(Assistant)					



Roll No. 245127362

Regn. No. 24-DEO-2916

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ASHISH GUPTA
Father's Name : H K GUPTA
Mother's Name : RADHA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	50 23	40AG	100	А	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	55 26	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	50 13	40AG	100	B+	7	04.0	28.0
4	MC-104 COMPANY LAW	51 26	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	62 21	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	57 23	40AG	100	A+	9	04.0	36.0
	TOTAL	0457		0600			24.0	204.0
	GRAND TOTAL	0457		0600			24.0	204.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.50

		(Clerk)		(Assistant)
Checked by	1.		_ 2	
KURUKSHET	ERA			
DATED :	JUN 26,2025			



Roll No. 245127363

Regn. No. 24-DEO-2917

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : PARUL WADHWA
Father's Name : LALIT KUMAR
Mother's Name : RADHA UPPAL

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	63 26	40AG	100	0	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	62 27	40AG	100	0	10	04.0	40.0
3	MC-103 MANAGERIAL ECONOMICS	58 26	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	65 26	40AG	100	О	10	04.0	40.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	61 25	40AG	100	0	10	04.0	40.0
6	MC-106 MARKETING MANAGEMENT	65 26	40AG	100	0	10	04.0	40.0
	TOTAL	0530		0600			24.0	236.0
	GRAND TOTAL	0530		0600			24.0	236.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.83

DATED:	JUN 26,2	025						
KURUKSHETERA								
Checked by	1.			2.				
		((Clerk)		(Assistant)			



Roll No. 245127364

Regn. No. 24-DEO-2918

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : NAVNEET
Father's Name : GURNAM
Mother's Name : SHANTI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	57 23	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	54 21	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	49 24	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	54 20	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	47 20	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	50 21	40AG	100	А	8	04.0	32.0
	TOTAL	0440		0600			24.0	200.0
	GRAND TOTAL	0440		0600			24.0	200.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.33

		(Clerk)		(Assistant)
Checked by	1.		_ 2	
KURUKSHET	ERA			
DATED :	JUN 26,2025			



Roll No. 245127365

Regn. No. 24-DEO-2919

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : PARNEET KAUR
Father's Name : SURINDER SINGH
Mother's Name : NARINDER KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	59 26	40AG	100	0	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	54 24	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	62 24	40AG	100	0	10	04.0	40.0
4	MC-104 COMPANY LAW	48 21	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	63 22	40AG	100	0	10	04.0	40.0
6	MC-106 MARKETING MANAGEMENT	62 24	40AG	100	0	10	04.0	40.0
	TOTAL	0489		0600			24.0	228.0
	GRAND TOTAL	0489		0600			24.0	228.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.50

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2.	
			(Clerk)		(Assistant)



Roll No. 245127366

Regn. No. 24-DEO-2920

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : RENU
Father's Name : JASWANT
Mother's Name : DARSHANA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Ob	otained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	64 24	Į.	40AG	100	0	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	56 25	5	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	56 24	1	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	55 21	I	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	57 21	I	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	56 26	5	40AG	100	A+	9	04.0	36.0
	TOTAL		0485		0600			24.0	220.0
	GRAND TOTAL		0485		0600			24.0	220.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.17

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)



Roll No. 245127367

Regn. No. 24-DEO-2921

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : HEMA
Father's Name : NARESH
Mother's Name : RAJESH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	61 21	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	54 25	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	48 21	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	59 20	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	51 22	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	52 22	40AG	100	A	8	04.0	32.0
	TOTAL	0456		0600			24.0	204.0
	GRAND TOTAL	0456		0600			24.0	204.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.50

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	TERA				
DATED:	JUN 26,20	25			



Roll No. 245127368

Regn. No. 24-DEO-2922

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : NAIK RAHUL RAMDAS

Father's Name : NAIK RAMDAS N Mother's Name : NAIK SAVITHA R

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	60 21	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	59 26	40AG	100	0	10	04.0	40.0
3	MC-103 MANAGERIAL ECONOMICS	57 22	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	59 23	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	57 22	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	60 20	40AG	100	A+	9	04.0	36.0
	TOTAL	0486		0600			24.0	220.0
	GRAND TOTAL	0486		0600			24.0	220.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.17

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			2	
			(Clerk)		(Assistant)



Roll No. 245127369

Regn. No. 24-DEO-2923

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : SHREYA BHAGAT
Father's Name : SANJAY BHAGAT
Mother's Name : SRADHA BHAGAT

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	56 22	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	58 18	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	47 20	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	49 22	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	50 21	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	53 19	40AG	100	A	8	04.0	32.0
	TOTAL	0435		0600			24.0	200.0
	GRAND TOTAL	0435		0600			24.0	200.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.33

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245127370

Regn. No. 24-DEO-2924

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : SHAMA
Father's Name : KARAMBIR
Mother's Name : PRITO DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtaine	d Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	58 12	40AG	100	А	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	50 18	40AG	100	А	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	53 12	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	45 23	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	53 9	40AG	100	B+	7	04.0	28.0
6	MC-106 MARKETING MANAGEMENT	41 18	40AG	100	B+	7	04.0	28.0
	TOTAL	0392		0600			24.0	184.0
	GRAND TOTAL	0392		0600			24.0	184.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.67

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2.	
			(Clerk)		(Assistant)



Roll No. 245127371

Regn. No. 24-DEO-2925

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : DIVYA TAYAL
Father's Name : RAMBILAS TAYAL
Mother's Name : USHA TAYAL

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	60 23	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	62 22	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	60 23	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	54 26	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	54 22	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	54 23	40AG	100	A+	9	04.0	36.0
	TOTAL	0483		0600			24.0	216.0
	GRAND TOTAL	0483		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245127373

Regn. No. 24-DEO-2927

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SIMRAN

Father's Name : RAJESH WADHWA Mother's Name : SEEMA RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	63 24	40AG	100	0	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	59 25	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	55 21	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	49 22	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	54 21	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	58 22	40AG	100	A+	9	04.0	36.0
	TOTAL	0473		0600			24.0	216.0
	GRAND TOTAL	0473		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)

Data of issue



CONTROLLER OF EXAMINATIONS

Roll No. 245127374

Regn. No. 24-DEO-2928

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : SHREYA Father's Name : DEEPAK

Mother's Name : HARKESH KUMARI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	63 20	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	59 26	40AG	100	0	10	04.0	40.0
3	MC-103 MANAGERIAL ECONOMICS	57 26	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	52 23	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	56 23	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	58 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0488		0600			24.0	220.0
	GRAND TOTAL	0488		0600			24.0	220.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.17

DATED: JUN 26,2025

KURUKSHETERA

Checked by 1. ______ 2. _____

(Clerk) (Assistant)

Data of issue



CONTROLLER OF EXAMINATIONS

Roll No. 245127375

Regn. No. 24-DEO-2929

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : MONIYA Father's Name : RANBIR

Mother's Name : SHAKUNTLA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	56 21	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	57 15	40AG	100	А	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	55 19	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	50 22	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	57 14	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	60 19	40AG	100	A+	9	04.0	36.0
	TOTAL	0445		0600			24.0	200.0
	GRAND TOTAL	0445		0600			24.0	200.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.33

		(CI	erk)		(Assistant)	
Checked by	1.			2.		
KURUKSHET	ERA					
DATED :	JUN 26,2	2025				



Roll No. 245127376

Regn. No. 24-DEO-2930

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : NEHA SAINI
Father's Name : BHAG SINGH
Mother's Name : KIRAN BALA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	58 25	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	55 24	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	56 22	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	53 24	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	52 20	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	61 24	40AG	100	0	10	04.0	40.0
	TOTAL	0474		0600			24.0	216.0
	GRAND TOTAL	0474		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			2.	
		((Clerk)		(Assistant)



Roll No. 245127377

Regn. No. 24-DEO-2931

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : TANISHA

Father's Name : PARDEEP KUMAR

Mother's Name : JYOTI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	56 21	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	57 21	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	45 24	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	55 22	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	58 17	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	53 23	40AG	100	A+	9	04.0	36.0
	TOTAL	0452		0600			24.0	212.0
	GRAND TOTAL	0452		0600			24.0	212.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.83

DATED:	JUN 26,2025		
KURUKSHET	ERA		
Checked by	1.	2.	

(Clerk) (Assistant)



Roll No. 245127378

Regn. No. 24-DEO-2932

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : GUNJAN SETIA Father's Name : MAHESH KUMAR

Mother's Name : GEETA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	63 27	40AG	100	0	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	58 22	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	61 26	40AG	100	0	10	04.0	40.0
4	MC-104 COMPANY LAW	53 22	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	55 17	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	60 25	40AG	100	0	10	04.0	40.0
	TOTAL	0489		0600			24.0	224.0
	GRAND TOTAL	0489		0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

		(C	lerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	.025				



Roll No. 245127379

Regn. No. 24-DEO-2933

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM : MAR- 2025

(CBCS-CDOE)

Name : PRIYA PULANI

Father's Name : SUBHASH CHAND PULANI

Mother's Name : PREETI PULANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	62 24	40AG	100	0	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	54 25	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	54 23	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	57 27	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	59 20	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	61 24	40AG	100	0	10	04.0	40.0
	TOTAL	0490		0600			24.0	224.0
	GRAND TOTAL	0490		0600			24.0	224.0

(Assistant)

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

DATED : JUN 26,2025

KURUKSHETERA

Checked by 1. ______ 2. _____

(Clerk)

Banus

CONTROLLER OF EXAMINATIONS

Roll No. 245127380

Regn. No. 24-DEO-2934

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SEEMA CHAUHAN
Father's Name : MS CHAUHAN
Mother's Name : SUNITA CHAUHAN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	61 22	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	62 23	40AG	100	0	10	04.0	40.0
3	MC-103 MANAGERIAL ECONOMICS	55 23	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	54 25	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	54 22	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	53 20	40AG	100	А	8	04.0	32.0
	TOTAL	0474		0600			24.0	216.0
	GRAND TOTAL	0474		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED:	JUN 26,202	5			



Roll No. 245127381

Regn. No. 24-DEO-2935

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SAGAR

Father's Name : KASHMIRI LAL

Mother's Name : RAJNI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	60 25	40AG	100	0	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	54 26	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	60 25	40AG	100	0	10	04.0	40.0
4	MC-104 COMPANY LAW	59 26	40AG	100	0	10	04.0	40.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	56 22	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	59 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0497		0600			24.0	228.0
	GRAND TOTAL	0497		0600			24.0	228.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.50

		(C	lerk)		(Assista	int)	
Checked by	1.			_ 2			
KURUKSHET	ERA						
DATED:	JUN 26,2	2025					



Roll No. 245127383

Regn. No. 24-DEO-2937

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : SIMRAN BAJAJ
Father's Name : AJAY BAJAJ
Mother's Name : NEERU BAJAJ

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	47 11	40AG	100	B+	7	04.0	28.0
2	MC-102 BUSINESS ENVIRONMENT	49 24	40AG	100	А	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	40 22	40AG	100	B+	7	04.0	28.0
4	MC-104 COMPANY LAW	53 25	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	42 20	40AG	100	B+	7	04.0	28.0
6	MC-106 MARKETING MANAGEMENT	42 21	40AG	100	B+	7	04.0	28.0
	TOTAL	0396		0600			24.0	180.0
	GRAND TOTAL	0396		0600			24.0	180.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.50

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		_ 2	
		(Clerk)		(Assistant)



Roll No. 245127384

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-2938

MASTER OF COMMERCE SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : SUNDEEP P
Father's Name : P KRISHNAN
Mother's Name : VALSALA K S

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	53 23	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	60 25	40AG	100	0	10	04.0	40.0
3	MC-103 MANAGERIAL ECONOMICS	45 20	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	50 23	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	53 21	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	57 21	40AG	100	A+	9	04.0	36.0
	TOTAL	0451		0600			24.0	208.0
	GRAND TOTAL	0451		0600			24.0	208.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.67

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2.	
			(Clerk)		(Assistant)



Roll No. 245127385

Regn. No. 24-DEO-2939

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : VISHAL KUMAR Father's Name : MANOJ KUMAR

Mother's Name : ANJU

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	44 25	40AG	100	А	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	50 26	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	53 25	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	47 25	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	51 24	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	53 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0448		0600			24.0	208.0
	GRAND TOTAL	0448		0600			24.0	208.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.67

DATED:	JUN 26,2025							
KURUKSHETERA								
Checked by	1		_ 2					
		(Clerk)		(Assistant)				



Roll No. 245127386

Regn. No. 24-DEO-2940

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : HARSHIT KAMBOJ

Father's Name : BIRINDER SINGH KAMBOJ

Mother's Name : NEELAM KAMBOJ

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	56 25	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	50 26	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	56 23	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	56 23	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	60 21	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	56 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0477		0600			24.0	216.0
	GRAND TOTAL	0477		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

		(CI	lerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				



CONTROLLER OF	EXAMINATIONS
---------------	--------------

Roll No. 245127387

Regn. No. 24-DEO-2941

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : TANYA KOTHIYAL

Father's Name : RAMESH CHANDER KOTHIYAL

Mother's Name : MANJU RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	60 19	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	55 23	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	50 18	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	52 23	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	55 17	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	54 20	40AG	100	А	8	04.0	32.0
	TOTAL	0446		0600			24.0	204.0
	GRAND TOTAL	0446		0600			24.0	204.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.50

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHE	ΓERA				
DATED :	JUN 26,2025				



Roll No. 245127388

Regn. No. 24-DEO-2942

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : NAVNEET KAUR
Father's Name : SURJEET SINGH
Mother's Name : VIJAY KUMARI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	55 16	40AG	100	А	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	55 20	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	57 19	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	58 17	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	58 18	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	59 19	40AG	100	A+	9	04.0	36.0
	TOTAL	0451		0600			24.0	212.0
	GRAND TOTAL	0451		0600			24.0	212.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.83

DATED:	JUN 26,2025							
KURUKSHETERA								
Checked by	1.		2					
		(Clerk)		(Assistant)				



Roll No. 245127389

Regn. No. 24-DEO-2943

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CRCS-CDOE)

(CBCS-CDOE)

Name : KAJAL SHARMA
Father's Name : MADAN KUMAR
Mother's Name : SUNITA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtair	ned Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	62 23	40AG	100	0	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	58 24	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	52 20	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	59 24	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	55 19	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	55 22	40AG	100	A+	9	04.0	36.0
	TOTAL	04	73	0600			24.0	212.0
	GRAND TOTAL	047	73	0600			24.0	212.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.83

DATED:	JUN 26,2025							
KURUKSHETERA								
Checked by	1		_ 2					
		(Clerk)		(Assistant)				

Data of issue

Banne

Roll No. 245127390

Regn. No. 24-DEO-2944

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : OLIVEIRA GLADWIN
Father's Name : OLIVEIRA PEDRO
Mother's Name : COLACO PAULINA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	56 21	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	53 26	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	51 23	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	51 24	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	50 22	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	61 20	40AG	100	A+	9	04.0	36.0
	TOTAL	0458		0600			24.0	208.0
	GRAND TOTAL	0458		0600			24.0	208.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.67

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	TERA				
DATED:	JUN 26,20	25			



Roll No. 245127391

Regn. No. 24-DEO-2945

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : POOJA
Father's Name : NARSINGH
Mother's Name : LUXMI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	56 9	40AG	100	А	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	51 21	40AG	100	А	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	58 10	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	54 11	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	58 6	40AG	100	B+	7	04.0	28.0
6	MC-106 MARKETING MANAGEMENT	49 9	40AG	100	B+	7	04.0	28.0
	TOTAL	0392		0600			24.0	184.0
	GRAND TOTAL	0392		0600			24.0	184.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.67

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)



Roll No. 245127392

Regn. No. 24-DEO-2946

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MAHAK
Father's Name : KULDEEP
Mother's Name : DARSHNI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	54 21	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	59 23	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	45 24	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	57 23	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	44 20	40AG	100	B+	7	04.0	28.0
6	MC-106 MARKETING MANAGEMENT	47 22	40AG	100	A	8	04.0	32.0
	TOTAL	0439		0600			24.0	200.0
	GRAND TOTAL	0439		0600			24.0	200.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.33

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	TERA				
DATED:	JUN 26,20	25			



Roll No. 245127393

Regn. No. 24-DEO-2947

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : NITIN BARAPATRE
Father's Name : ASHOK BARAPATRE
Mother's Name : SANGEETA BARAPATRE

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	42 24	40AG	100	А	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	51 26	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	51 22	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	52 19	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	45 21	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	53 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0431		0600			24.0	200.0
	GRAND TOTAL	0431		0600			24.0	200.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.33

		(Clerk))	(Assista	int)
Checked by	1		2.		
KURUKSHET	ERA				
DATED :	JUN 26,20)25			

Data of issue

Banne

CONTROLLER OF EXAMINATIONS

Roll No. 245127394

Regn. No. 24-DEO-2948

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : SUMIT KUMAR
Father's Name : SATISH KUMAR
Mother's Name : SAWETA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	62 24	40AG	100	0	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	60 26	40AG	100	0	10	04.0	40.0
3	MC-103 MANAGERIAL ECONOMICS	54 21	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	59 24	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	58 22	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	60 26	40AG	100	0	10	04.0	40.0
	TOTAL	0496		0600			24.0	228.0
	GRAND TOTAL	0496		0600			24.0	228.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.50

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2.	
		(Clerk)		(Assistant)

Data of issue

Banne

Roll No. 245127396

Regn. No. 24-DEO-2950

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : AASHIMA RELHAN
Father's Name : RAJIV KUMAR RELHAN
Mother's Name : SHEETAL RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	59 21	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	53 26	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	55 24	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	50 26	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	55 23	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	53 26	40AG	100	A+	9	04.0	36.0
	TOTAL	0471		0600			24.0	216.0
	GRAND TOTAL	0471		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

		(Clerk)		(Assistant)	
Checked by	1		_ 2		
KURUKSHET	ERA				
DATED:	JUN 26,2025	j			



Roll No. 245127397

Regn. No. 24-DEO-2951

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : DIKSHA ARORA Father's Name : SURENDRA ARORA

Mother's Name : SUSHMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	47 23	40AG	100	А	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	46 24	40AG	100	А	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	49 21	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	46 25	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	51 17	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	50 19	40AG	100	А	8	04.0	32.0
	TOTAL	0418		0600			24.0	192.0
	GRAND TOTAL	0418		0600			24.0	192.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

		(Clerk)		(Assistant)							
Checked by	1.		_ 2								
KURUKSHET	KURUKSHETERA										
DATED :	JUN 26,2025										



Roll No. 245127398

Regn. No. 24-DEO-2952

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : NEELAM

Father's Name : CHANDRA PAL

Mother's Name : GEETA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	55 17	40AG	100	А	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	52 19	40AG	100	А	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	50 21	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	50 17	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	50 16	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	49 19	40AG	100	А	8	04.0	32.0
	TOTAL	0415		0600			24.0	192.0
	GRAND TOTAL	0415		0600			24.0	192.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

DATED:	JUN 26,2025									
KURUKSHETERA										
Checked by	1.		2							
		(Clerk)		(Assistant)						

Data of issue

Banan

Roll No. 245127399

Regn. No. 24-DEO-2953

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : STUTI JALAN
Father's Name : ASHOK JALAN
Mother's Name : SANGEET JALAN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	58 23	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	47 22	40AG	100	А	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	55 10	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	55 15	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	56 19	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	59 19	40AG	100	A+	9	04.0	36.0
	TOTAL	0438		0600			24.0	204.0
	GRAND TOTAL	0438		0600			24.0	204.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.50

DATED:	JUN 26,2025									
KURUKSHETERA										
Checked by	1.		2							
		(Clerk)		(Assistant)						



Roll No. 245127400

Regn. No. 24-DEO-2954

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SHIKHA MADAN

Father's Name : JAGDISH CHANDER MADAN

Mother's Name : TARA RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	57 16	40AG	100	А	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	59 25	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	58 24	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	55 17	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	52 17	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	51 23	40AG	100	А	8	04.0	32.0
	TOTAL	0454		0600			24.0	200.0
	GRAND TOTAL	0454		0600			24.0	200.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.33

		(C	lerk)		(Assista	int)	
Checked by	1.			_ 2			
KURUKSHET	ERA						
DATED:	JUN 26,2	2025					



Roll No. 245127401

Regn. No. 24-DEO-2955

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ANKIT

Father's Name : VIJAY KUMAR Mother's Name : SHYAMA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	62 24	40AG	100	0	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	54 24	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	57 12	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	59 27	40AG	100	О	10	04.0	40.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	52 20	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	57 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0473		0600			24.0	216.0
	GRAND TOTAL	0473		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED:	JUN 26,2025									
KURUKSHETERA										
Checked by	1.		_ 2							
		(Clerk)		(Assistant)						



Roll No. 245127402

Regn. No. 24-DEO-2956

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MD AADIL SIDDIQUE

Father's Name : MANAZIR HASNAIN SIDDIQUE

Mother's Name : NIKHAT ARA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	51 19	40AG	100	А	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	56 23	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	55 22	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	55 24	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	59 20	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	60 24	40AG	100	A+	9	04.0	36.0
	TOTAL	0468		0600			24.0	212.0
	GRAND TOTAL	0468		0600			24.0	212.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.83

DATED: JUN 26,2025

KURUKSHETERA

Checked by 1. ______ 2. ______

(Clerk) (Assistant)

Bound

CONTROLLER OF EXAMINATIONS

Data of issue		

Roll No. 245127403

Regn. No. 24-DEO-2957

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : SHIVANI SIROHI
Father's Name : PRITAM SINGH
Mother's Name : SUMAN DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	54 17	40AG	100	А	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	55 21	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	52 11	40AG	100	B+	7	04.0	28.0
4	MC-104 COMPANY LAW	45 24	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	47 23	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	49 18	40AG	100	А	8	04.0	32.0
	TOTAL	0416		0600			24.0	192.0
	GRAND TOTAL	0416		0600			24.0	192.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

DATED :	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)



Roll No. 245127404

Regn. No. 24-DEO-2958

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : DEVANSHI Father's Name : SATISH KUMAR

Mother's Name : NEETU

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	58 24	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	59 24	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	58 24	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	56 23	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	60 21	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	64 26	40AG	100	0	10	04.0	40.0
	TOTAL	0497		0600			24.0	220.0
	GRAND TOTAL	0497		0600			24.0	220.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.17

		(C	lerk)		(Assista	int)	
Checked by	1.			_ 2			
KURUKSHET	ERA						
DATED:	JUN 26,2	2025					



Roll No. 245127405

Regn. No. 24-DEO-2959

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : KAUSTAV GHOSH
Father's Name : AMIT GHOSH
Mother's Name : SANCHITA GHOSH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	48 21	40AG	100	А	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	56 26	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	57 23	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	43 23	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	54 18	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	48 22	40AG	100	А	8	04.0	32.0
	TOTAL	0439		0600			24.0	200.0
	GRAND TOTAL	0439		0600			24.0	200.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.33

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED :	JUN 26,202	5			



Roll No. 245127406

Regn. No. 24-DEO-2960

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : VARNIKA VERMA
Father's Name : JASWANT VERMA
Mother's Name : SAROJ VERMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	54 22	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	60 25	40AG	100	0	10	04.0	40.0
3	MC-103 MANAGERIAL ECONOMICS	56 20	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	50 18	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	53 21	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	57 23	40AG	100	A+	9	04.0	36.0
	TOTAL	0459		0600			24.0	212.0
	GRAND TOTAL	0459		0600			24.0	212.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.83

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	TERA				
DATED:	JUN 26,20	25			



Roll No. 245127407

24-DEO-2961 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR-2025

(CBCS-CDOE)

Name : MUSKAN : RAJ KUMAR Father's Name : LAXMI DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	54 25	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	60 26	40AG	100	0	10	04.0	40.0
3	MC-103 MANAGERIAL ECONOMICS	60 25	40AG	100	0	10	04.0	40.0
4	MC-104 COMPANY LAW	60 18	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	58 22	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	56 26	40AG	100	A+	9	04.0	36.0
	TOTAL	0490		0600			24.0	224.0
	GRAND TOTAL	0490		0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)



Roll No. 245127408

Regn. No. 24-DEO-2962

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : AYUSH SHARMA

Father's Name : PUNEET KUMAR SHARMA

Mother's Name : SAVEENA SHARMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	55 12	40AG	100	А	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	48 20	40AG	100	А	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	30 12	40AG	100	С	5	04.0	20.0
4	MC-104 COMPANY LAW	53 11	40AG	100	B+	7	04.0	28.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	43 18	40AG	100	B+	7	04.0	28.0
6	MC-106 MARKETING MANAGEMENT	34 14	40AG	100	С	5	04.0	20.0
	TOTAL	0350		0600			24.0	160.0
	GRAND TOTAL	0350		0600			24.0	160.0

RESULT: PASSED AND HAS OBTAINED: SGPA 6.67

		(Clerk)		(Assistant))
Checked by	1		2.		
KURUKSHET	ERA				
DATED:	JUN 26,20	25			



Roll No. 245127409

Regn. No. 24-DEO-2963

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MANISHA
Father's Name : SUBHASH
Mother's Name : GEETA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	61 21	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	59 25	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	52 23	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	51 22	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	54 20	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	59 24	40AG	100	A+	9	04.0	36.0
	TOTAL	0471		0600			24.0	208.0
	GRAND TOTAL	0471		0600			24.0	208.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.67

DATED:	JUN 26,2025									
KURUKSHETERA										
Checked by	1		_ 2							
		(Clerk)		(Assistant)						



Roll No. 245127410

Regn. No. 24-DEO-2964

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SAMRAT ARYA
Father's Name : VIJENDER ARYA
Mother's Name : VEENA ARYA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtain	ed Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	44 13	40AG	100	B+	7	04.0	28.0
2	MC-102 BUSINESS ENVIRONMENT	31 16	40AG	100	С	5	04.0	20.0
3	MC-103 MANAGERIAL ECONOMICS	40 17	40AG	100	B+	7	04.0	28.0
4	MC-104 COMPANY LAW	35 18	40AG	100	В	6	04.0	24.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	46 13	40AG	100	B+	7	04.0	28.0
6	MC-106 MARKETING MANAGEMENT	44 13	40AG	100	B+	7	04.0	28.0
	TOTAL	033	0	0600			24.0	156.0
	GRAND TOTAL	033	0	0600			24.0	156.0

RESULT: PASSED AND HAS OBTAINED: SGPA 6.50

DATED:	JUN 26,2025									
KURUKSHETERA										
Checked by	1.		_ 2							
		(Clerk)		(Assistant)						



Roll No. 245127411

Regn. No. 24-DEO-2965

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : RAGHAV AGARWAL
Father's Name : ALOK AGARWAL
Mother's Name : SUNITA AGARWAL

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtai	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	AB	25	F	40AG	100	F	0	04.0	0
2	MC-102 BUSINESS ENVIRONMENT	38	25		40AG	100	B+	7	04.0	28.0
3	MC-103 MANAGERIAL ECONOMICS	AB	26	F	40AG	100	F	0	04.0	0
4	MC-104 COMPANY LAW	30	20		40AG	100	В	6	04.0	24.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	29	23		40AG	100	В	6	04.0	24.0
6	MC-106 MARKETING MANAGEMENT	AB	24	F	40AG	100	F	0	04.0	0
	TOTAL		*	**		0600			24.0	076.0
									24.0	76.0

RESULT: RE - TILL MAR- 2027 IN: MC-101 MC-103 MC-106

		(Clerk)		(Assistant)	
Checked by	1		2.		
KURUKSHET	ERA				
DATED:	JUN 26,202	25			



Roll No. 245127412

Regn. No. 24-DEO-2966

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : REKHA DEVI
Father's Name : GURDYAL SINGH
Mother's Name : GULAB DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	57 18	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	57 22	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	54 20	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	52 23	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	54 20	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	56 21	40AG	100	A+	9	04.0	36.0
	TOTAL	0454		0600			24.0	208.0
	GRAND TOTAL	0454		0600			24.0	208.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.67

DATED:	JUN 26,2025									
KURUKSHETERA										
Checked by	1.		2							
		(Clerk)		(Assistant)						



Roll No. 245127413

Regn. No. 24-DEO-2967

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MANJU KUMARI

Father's Name : YUDHISHTHER SHARMA

Mother's Name : MAYA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	35 17	40AG	100	В	6	04.0	24.0
2	MC-102 BUSINESS ENVIRONMENT	55 20	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	43 15	40AG	100	B+	7	04.0	28.0
4	MC-104 COMPANY LAW	50 16	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	48 18	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	32 16	40AG	100	С	5	04.0	20.0
	TOTAL	0365		0600			24.0	172.0
	GRAND TOTAL	0365		0600			24.0	172.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.17

DATED:	JUN 26,2025										
KURUKSHETERA											
Checked by	1		_ 2								
		(Clerk)		(Assistant)							



Roll No. 245127414

Regn. No. 24-DEO-2968

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : NIDHI KAUSHIK
Father's Name : SUBHASH CHAND
Mother's Name : BHUSHAN BALA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obta	ined	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	64 23		40AG	100	0	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	55 23		40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	58 23		40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	58 23		40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	57 20		40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	49 23		40AG	100	A	8	04.0	32.0
	TOTAL	04	176		0600			24.0	216.0
	GRAND TOTAL	04	176		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED:	JUN 26,2025									
KURUKSHETERA										
Checked by	1.		2							
		(Clerk)		(Assistant)						



Roll No. 245127415

Regn. No. 24-DEO-2969

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : HARMEET KAUR
Father's Name : PARAMJEET KAUR
Mother's Name : JATINDER KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	40 20	40AG	100	B+	7	04.0	28.0
2	MC-102 BUSINESS ENVIRONMENT	62 25	40AG	100	0	10	04.0	40.0
3	MC-103 MANAGERIAL ECONOMICS	59 23	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	53 24	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	53 21	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	55 23	40AG	100	A+	9	04.0	36.0
	TOTAL	0458		0600			24.0	208.0
	GRAND TOTAL	0458		0600			24.0	208.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.67

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED :	JUN 26,202	5			



Regn. No.

Roll No. 245127416

24-DEO-2970

RESULT-cum-DETAILED MARKS CARD

MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : JYOTI BANSAL

Father's Name : VIJAY KUMAR BANSAL

Mother's Name : MANJU RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	59 15	40AG	100	А	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	57 22	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	49 17	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	54 20	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	44 20	40AG	100	B+	7	04.0	28.0
6	MC-106 MARKETING MANAGEMENT	50 23	40AG	100	А	8	04.0	32.0
	TOTAL	0430		0600			24.0	192.0
	GRAND TOTAL	0430		0600			24.0	192.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

		(C	lerk)		(Assista	int)	
Checked by	1.			_ 2			
KURUKSHET	ERA						
DATED:	JUN 26,2	2025					



Roll No. 245127417

Regn. No. 24-DEO-2971

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : RAVEENA RATHORE
Father's Name : SANJEEV RATHORE
Mother's Name : RENU RATHORE

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	AB	AB	F	40AG	100	F	0	04.0	0
2	MC-102 BUSINESS ENVIRONMENT	46	19		40AG	100	A	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	АВ	AB	F	40AG	100	F	0	04.0	0
4	MC-104 COMPANY LAW	AB	AB	F	40AG	100	F	0	04.0	0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	AB	AB	F	40AG	100	F	0	04.0	0
6	MC-106 MARKETING MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
	TOTAL		**	**		0600			24.0	032.0
									4.0	32.0

RESULT: RE - TILL MAR- 2027 IN: MC-101 MC-103 MC-104 MC-105 MC-106

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)

Data of issue

Bann

Roll No. 245127418

Regn. No. 24-DEO-2972

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : AANCHAL

Father's Name : RAMESH KUMAR Mother's Name : KANTA RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	57 22	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	57 21	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	53 24	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	51 25	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	54 22	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	62 22	40AG	100	A+	9	04.0	36.0
	TOTAL	0470		0600			24.0	216.0
	GRAND TOTAL	0470		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
			(Clerk)		(Assistant)



Roll No. 245127419

Regn. No. 24-DEO-2973

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : ANIKET KUMAR MISHRA
Father's Name : SUDHANSHU MISHRA
Mother's Name : LALITA MISHRA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	50 21		40AG	100	А	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	51 21		40AG	100	А	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	36 15		40AG	100	В	6	04.0	24.0
4	MC-104 COMPANY LAW	56 25		40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	32 13		40AG	100	С	5	04.0	20.0
6	MC-106 MARKETING MANAGEMENT	AB AB	F	40AG	100	F	0	04.0	0
	TOTAL	***			0600			24.0	144.0
								20.0	144.0

RESULT: RE - TILL MAR- 2027 IN: MC-106

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)



Roll No. 245127420

Regn. No. 24-DEO-2974

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : NEHA

Father's Name : VED PARKASH

Mother's Name : SUMAN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	63 22	40AG	100	0	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	58 23	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	49 24	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	49 23	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	54 20	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	38 20	40AG	100	B+	7	04.0	28.0
	TOTAL	0443		0600			24.0	200.0
	GRAND TOTAL	0443		0600			24.0	200.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.33

		(Clerk)	_	(Assistant)
Checked by	1.		2	
KURUKSHET	ERA			
DATED:	JUN 26,2025			



Roll No. 245127421

Regn. No. 24-DEO-2975

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ANSHIKA

Father's Name : SANDEEP CHOPRA

Mother's Name : POOJA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	57 24	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	53 26	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	57 22	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	49 21	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	57 22	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	60 27	40AG	100	0	10	04.0	40.0
	TOTAL	0475		0600			24.0	216.0
	GRAND TOTAL	0475		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED:	JUN 26,2	025								
KURUKSHETERA										
Checked by	1.			_ 2						
			(Clerk)		(Assistant)					

Data of issue

Banan

Roll No. 245127423

Regn. No. 24-DEO-2977

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : KANIKA

Father's Name : PAWAN CHAWLA

Mother's Name : MEENU

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	59 23	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	60 23	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	59 21	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	58 26	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	57 23	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	53 23	40AG	100	A+	9	04.0	36.0
	TOTAL	0485		0600			24.0	216.0
	GRAND TOTAL	0485		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED: JUN 26,2025

KURUKSHETERA

Checked by 1. _______ 2. ______
(Clerk) (Assistant)

Data of issue

Banne

Roll No. 245127424

Regn. No. 24-DEO-2978

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : RANJOT KAUR
Father's Name : GURDEEP SINGH
Mother's Name : SARBJEET KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	55 26	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	58 23	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	58 24	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	53 22	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	55 21	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	62 25	40AG	100	0	10	04.0	40.0
	TOTAL	0482		0600			24.0	220.0
	GRAND TOTAL	0482		0600			24.0	220.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.17

DATED:	JUN 26,2025								
KURUKSHETERA									
Checked by	1.		_ 2						
		(Clerk)		(Assistant)					



Roll No. 245127425

Regn. No. 24-DEO-2979

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SANDEEP
Father's Name : VIJAY PAL
Mother's Name : LAXMI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	11	4	F	40AG	100	F	0	04.0	0
2	MC-102 BUSINESS ENVIRONMENT	AB	AB	F	40AG	100	F	0	04.0	0
3	MC-103 MANAGERIAL ECONOMICS	AB	AB	F	40AG	100	F	0	04.0	0
4	MC-104 COMPANY LAW	AB	AB	F	40AG	100	F	0	04.0	0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	AB	AB	F	40AG	100	F	0	04.0	0
6	MC-106 MARKETING MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
	TOTAL		***	*		0600			24.0	0.000
									4.0	0.0

RESULT: RE - TILL MAR- 2027 IN: FAIL

DATED:	JUN 26,2025									
KURUKSHETERA										
Checked by	1.		2							
		(Clerk)		(Assistant)						



Roll No. 245127426

Regn. No. 24-DEO-2980

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : JAGBIR SINGH
Father's Name : SUKHBIR SINGH
Mother's Name : NIRMLA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	57 19	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	55 23	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	50 22	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	54 14	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	48 20	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	52 19	40AG	100	А	8	04.0	32.0
	TOTAL	0433		0600			24.0	200.0
	GRAND TOTAL	0433		0600			24.0	200.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.33

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED:	JUN 26,202	5			



Roll No. 245127427

Regn. No. 24-DEO-2981

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : VIKASH KUMAR
Father's Name : KRISHAN VERMA
Mother's Name : RAMRATI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	46	19	40AG	100	А	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	49	21	40AG	100	А	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	47	20	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	47	10	40AG	100	B+	7	04.0	28.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	45	19	40AG	100	B+	7	04.0	28.0
6	MC-106 MARKETING MANAGEMENT	38	16	40AG	100	В	6	04.0	24.0
	TOTAL		0377		0600			24.0	176.0
	GRAND TOTAL		0377		0600			24.0	176.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.33

DATED:	JUN 26,2025								
KURUKSHETERA									
Checked by	1.		2						
		(Clerk)		(Assistant)					



Roll No. 245127428

Regn. No. 24-DEO-2982

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : ZABIHULLAH QADIRI

Father's Name : 0 Mother's Name : 0

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	59 23	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	53 23	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	52 20	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	45 19	40AG	100	B+	7	04.0	28.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	58 20	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	51 21	40AG	100	А	8	04.0	32.0
	TOTAL	0444		0600			24.0	200.0
	GRAND TOTAL	0444		0600			24.0	200.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.33

		(C	lerk)		(Assista	int)	
Checked by	1.			_ 2			
KURUKSHET	ERA						
DATED:	JUN 26,2	2025					



Roll No. 245127431

Regn. No. 24-DEO-2985

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MASHOQUDDIN ABID

Father's Name : 0 Mother's Name : 0

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	26 17	40AG	100	С	5	04.0	20.0
2	MC-102 BUSINESS ENVIRONMENT	29 17	40AG	100	С	5	04.0	20.0
3	MC-103 MANAGERIAL ECONOMICS	34 14	40AG	100	С	5	04.0	20.0
4	MC-104 COMPANY LAW	25 15	40AG	100	Р	4	04.0	16.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	32 15	40AG	100	С	5	04.0	20.0
6	MC-106 MARKETING MANAGEMENT	26 14 *	40AG	100	Р	4	04.0	16.0
	TOTAL	0264		0600			24.0	112.0
	GRAND TOTAL	0264		0600			24.0	112.0

RESULT: PASSED AND HAS OBTAINED: SGPA 4.67

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245127432

Regn. No. 24-DEO-2986

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ABDUL GHAFAR SIKANDARY

Father's Name : 0 Mother's Name : 0

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained	
1	MC-101 ORGANISATIONAL BEHAVIOR	16	6	F	40AG	100	F	0	04.0	0
2	MC-102 BUSINESS ENVIRONMENT	17	7	F	40AG	100	F	0	04.0	0
3	MC-103 MANAGERIAL ECONOMICS	17	7	F	40AG	100	F	0	04.0	0
4	MC-104 COMPANY LAW	15	6	F	40AG	100	F	0	04.0	0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	16	6	F	40AG	100	F	0	04.0	0
6	MC-106 MARKETING MANAGEMENT	20	8	F	40AG	100	F	0	04.0	0
	TOTAL		**	***		0600			24.0	0.000
									24.0	0.0

RESULT: RE - TILL MAR- 2027 IN: FAIL

		(Clerk)		(Assistant)
Checked by	1.		_ 2	
KURUKSHET	ERA			
DATED :	JUN 26,2025			



Roll No. 245127434

Regn. No. 24-DEO-2988

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : SHWETA

Father's Name : ASHWANI KUMAR Mother's Name : REKHA RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	63 25	40AG	100	0	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	55 25	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	58 22	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	56 15	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	56 21	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	64 24	40AG	100	0	10	04.0	40.0
	TOTAL	0484		0600			24.0	220.0
	GRAND TOTAL	0484		0600			24.0	220.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.17

		(Clerk)	_	(Assistant)
Checked by	1.		2	
KURUKSHET	ERA			
DATED:	JUN 26,2025			



Regn. No.

Roll No. 245127435

24-DEO-2989

MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

RESULT-cum-DETAILED MARKS CARD

(CBCS-CDOE)

Name : SUKHJINDER KAUR
Father's Name : BALKAR SINGH
Mother's Name : MAHINDER KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	58 18	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	52 17	40AG	100	А	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	58 16	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	58 21	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	54 17	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	50 19	40AG	100	А	8	04.0	32.0
	TOTAL	0438		0600			24.0	200.0
	GRAND TOTAL	0438		0600			24.0	200.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.33

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			_ 2	
			(Clerk)		(Assistant)



Roll No. 245127436

Regn. No. 24-DEO-2990

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : KHUSHI

Father's Name : NARESH KUMAR Mother's Name : NEELAM RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	50 20	40AG	100	А	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	53 19	40AG	100	А	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	51 20	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	45 17	40AG	100	B+	7	04.0	28.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	42 17	40AG	100	B+	7	04.0	28.0
6	MC-106 MARKETING MANAGEMENT	52 16	40AG	100	А	8	04.0	32.0
	TOTAL	0402		0600			24.0	184.0
	GRAND TOTAL	0402		0600			24.0	184.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.67

		(Clerk)		(Assistant)
Checked by	1.			2	
KURUKSHET	ERA				
DATED:	JUN 26,2	025			



Roll No. 245127437

Regn. No. 24-DEO-2991

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : AKANKSHA GODARA
Father's Name : SANJAY KUMAR
Mother's Name : SAMISTHA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	32 14	40AG	100	С	5	04.0	20.0
2	MC-102 BUSINESS ENVIRONMENT	61 26	40AG	100	0	10	04.0	40.0
3	MC-103 MANAGERIAL ECONOMICS	44 26	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	56 28	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	29 26	40AG	100	B+	7	04.0	28.0
6	MC-106 MARKETING MANAGEMENT	48 28	40AG	100	A+	9	04.0	36.0
	TOTAL	0418		0600			24.0	192.0
	GRAND TOTAL	0418		0600			24.0	192.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED:	JUN 26,202	5			



Roll No. 245127438

Regn. No. 24-DEO-2992

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MADHU

Father's Name : PAWAN KUMAR Mother's Name : SOMWATI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	51 19	40AG	100	А	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	57 19	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	48 20	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	53 24	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	57 18	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	60 19	40AG	100	A+	9	04.0	36.0
	TOTAL	0445		0600			24.0	208.0
	GRAND TOTAL	0445		0600			24.0	208.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.67

DATED:	JUN 26,2025										
KURUKSHETERA											
Checked by	1.		_ 2								
		(Clerk)		(Assistant)							



Regn. No.

Roll No. 245127440

24-DEO-2994

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM : MAR- 2025

(CBCS-CDOE)

Name : RAHUL KUMAR
Father's Name : KARAN SINGH
Mother's Name : MAYA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obta	ined	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	08	3	F	40AG	100	F	0	04.0	0
2	MC-102 BUSINESS ENVIRONMENT	19	8	F	40AG	100	F	0	04.0	0
3	MC-103 MANAGERIAL ECONOMICS	20	8	F	40AG	100	F	0	04.0	0
4	MC-104 COMPANY LAW	35	15		40AG	100	В	6	04.0	24.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	14	6	F	40AG	100	F	0	04.0	0
6	MC-106 MARKETING MANAGEMENT	11	4	F	40AG	100	F	0	04.0	0
	TOTAL		>	***		0600			24.0	024.0
									24.0	24.0

RESULT: RE - TILL MAR- 2027 IN: MC-101 MC-102 MC-103 MC-105 MC-106

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245127441

24-DEO-2995 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR-2025

(CBCS-CDOE)

Name : NEHA NEGI : N S NEGI Father's Name : REKHA NEGI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	57 26	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	56 25	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	52 23	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	57 22	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	63 20	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	62 21	40AG	100	A+	9	04.0	36.0
	TOTAL	0484		0600			24.0	216.0
	GRAND TOTAL	0484		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED:	JUN 26,2	025									
KURUKSHETERA											
Checked by	1.			2.							
		((Clerk)		(Assistant)						



Roll No. 245127442

Regn. No. 24-DEO-2996

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : RAMDUTT SHARMA Father's Name : JOGINDER SHARMA

Mother's Name : KUSUM

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	34 14	40AG	100	С	5	04.0	20.0
2	MC-102 BUSINESS ENVIRONMENT	39 16	40AG	100	B+	7	04.0	28.0
3	MC-103 MANAGERIAL ECONOMICS	46 16	40AG	100	B+	7	04.0	28.0
4	MC-104 COMPANY LAW	47 18	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	42 17	40AG	100	B+	7	04.0	28.0
6	MC-106 MARKETING MANAGEMENT	43 17	40AG	100	B+	7	04.0	28.0
	TOTAL	0349		0600			24.0	164.0
	GRAND TOTAL	0349		0600			24.0	164.0

RESULT: PASSED AND HAS OBTAINED: SGPA 6.83

DATED:	JUN 26,2	025									
KURUKSHETERA											
Checked by	1.			2.							
		((Clerk)		(Assistant)						



Roll No. 245127443

Regn. No. 24-DEO-2997

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : VANDANA DEVI
Father's Name : BAL KISHAN
Mother's Name : SUNITA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	57 24	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	54 23	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	55 23	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	61 22	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	50 23	40AG	100	А	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	52 24	40AG	100	A+	9	04.0	36.0
	TOTAL	0468		0600			24.0	212.0
	GRAND TOTAL	0468		0600			24.0	212.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.83

DATED:	JUN 26,2025									
KURUKSHETERA										
Checked by	1.		2							
		(Clerk)		(Assistant)						



Roll No. 245127444

Regn. No. 24-DEO-2998

(CBCS-CDOE)

Name : KARAN KUMAR
Father's Name : SUSHIL KUMAR
Mother's Name : RAJO RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	AB	AB	F	40AG	100	F	0	04.0	0
2	MC-102 BUSINESS ENVIRONMENT	30	12		40AG	100	С	5	04.0	20.0
3	MC-103 MANAGERIAL ECONOMICS	AB	AB	F	40AG	100	F	0	04.0	0
4	MC-104 COMPANY LAW	AB	AB	F	40AG	100	F	0	04.0	0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	36	15		40AG	100	В	6	04.0	24.0
6	MC-106 MARKETING MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
	TOTAL		**	*		0600			24.0	044.0
									8.0	44.0

RESULT: RE - TILL MAR- 2027 IN: MC-101 MC-103 MC-104 MC-106

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED:	JUN 26,2025				



Roll No. 245127445

Regn. No. 24-DEO-2999

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ANILA SINGH
Father's Name : DIWAN SINGH
Mother's Name : KAMLESH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtair	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	43	20		40AG	100	B+	7	04.0	28.0
2	MC-102 BUSINESS ENVIRONMENT	43	22		40AG	100	А	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	AB	6	F	40AG	100	F	0	04.0	0
4	MC-104 COMPANY LAW	АВ	8	F	40AG	100	F	0	04.0	0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	АВ	AB	F	40AG	100	F	0	04.0	0
6	MC-106 MARKETING MANAGEMENT	AB	22	F	40AG	100	F	0	04.0	0
	TOTAL		*:	**		0600			24.0	060.0
									20.0	60.0

RESULT: RE - TILL MAR- 2027 IN: MC-103 MC-104 MC-105 MC-106

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		_ 2.	
		(Clerk)		(Assistant)



Roll No. 245127446

Regn. No. 24-DEO-3000

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : PINKI RANI
Father's Name : SATBIR SINGH
Mother's Name : BIRMATI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	59 20	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	50 24	40AG	100	А	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	60 23	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	53 25	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	52 22	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	60 24	40AG	100	A+	9	04.0	36.0
	TOTAL	0472		0600			24.0	208.0
	GRAND TOTAL	0472		0600			24.0	208.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.67

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			_ 2	
			(Clerk)		(Assistant)



Roll No. 245127447

Regn. No. 24-DEO-3001

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

•

Name : JASMIN
Father's Name : HARI SINGH
Mother's Name : SANTOSH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	60 25	40AG	100	0	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	55 9	40AG	100	B+	7	04.0	28.0
3	MC-103 MANAGERIAL ECONOMICS	50 21	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	56 11	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	43 7	40AG	100	В	6	04.0	24.0
6	MC-106 MARKETING MANAGEMENT	45 10	40AG	100	B+	7	04.0	28.0
	TOTAL	0392		0600			24.0	184.0
	GRAND TOTAL	0392		0600			24.0	184.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.67

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)



Roll No. 245127448

Regn. No. 24-DEO-3002

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SHIKHA GARG

Father's Name : RAKESH KUMAR GARG

Mother's Name : MONIKA GARG

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	61 21	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	60 26	40AG	100	0	10	04.0	40.0
3	MC-103 MANAGERIAL ECONOMICS	58 23	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	57 26	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	60 18	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	57 22	40AG	100	A+	9	04.0	36.0
	TOTAL	0489		0600			24.0	220.0
	GRAND TOTAL	0489		0600			24.0	220.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.17

		(Cler	·k)	(Assistar	nt)
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			



Roll No. 245127449

Regn. No. 24-DEO-3003

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM : MAR- 2025

(CBCS-CDOE)

Name : GEETA SHARMA
Father's Name : SUBASH CHAND
Mother's Name : KAMESH RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	58 20	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	50 23	40AG	100	А	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	55 21	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	61 19	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	58 20	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	57 22	40AG	100	A+	9	04.0	36.0
	TOTAL	0464		0600			24.0	212.0
	GRAND TOTAL	0464		0600			24.0	212.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.83

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Regn. No.

Roll No. 245127450

24-DEO-3004

MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

RESULT-cum-DETAILED MARKS CARD

(CBCS-CDOE)

Name : PARDEEP SAINI
Father's Name : PARSHOTAM LAL
Mother's Name : PREM LATA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	55 20	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	46 20	40AG	100	А	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	46 20	40AG	100	А	8	04.0	32.0
4	MC-104 COMPANY LAW	44 24	40AG	100	А	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	44 19	40AG	100	B+	7	04.0	28.0
6	MC-106 MARKETING MANAGEMENT	50 20	40AG	100	A	8	04.0	32.0
	TOTAL	0408		0600			24.0	192.0
	GRAND TOTAL	0408		0600			24.0	192.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)



Roll No. 245127451

Regn. No. 24-DEO-3005

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025

(CBCS-CDOE)

Name : VISHAKHA CHOUDHARY
Father's Name : DEVINDER CHOUDHARY
Mother's Name : PUSHPA CHOUDHARY

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	57 23	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	57 26	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	57 23	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	53 25	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	53 21	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	58 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0478		0600			24.0	212.0
	GRAND TOTAL	0478		0600			24.0	212.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.83

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)

Data of issue

Banne

Roll No. 245127452

Regn. No. 24-DEO-3006

RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SATYAM KUMAR JHA Father's Name : JAY SHANKAR JHA

Mother's Name : RANI JHA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtai	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOR	07	11	F	40AG	100	F	0	04.0	0
2	MC-102 BUSINESS ENVIRONMENT	09	3	F	40AG	100	F	0	04.0	0
3	MC-103 MANAGERIAL ECONOMICS	16	6	F	40AG	100	F	0	04.0	0
4	MC-104 COMPANY LAW	11	17	F	40AG	100	F	0	04.0	0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIOBS	11	3	F	40AG	100	F	0	04.0	0
6	MC-106 MARKETING MANAGEMENT	13	5	F	40AG	100	F	0	04.0	0
	TOTAL		**	**		0600			24.0	0.000
									24.0	0.0

RESULT: RE - TILL MAR- 2027 IN: FAIL

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	TERA				
DATED:	JUN 26,20	25			

